
 

 

 

 

 

 

 

;   

gFjp – I 

01. kpfTk; nghUj;jkhd tpilapidj; njupT nra;J mjd; fPo; NfhbLf. 
1. gpd;tUtdtw;Ws; G+f;Fk; jhtuk; vJ? 

1) irg;gpu];      2) ,A+f;fypg;uR 
3) kLg;gid      4) ry;tPdpah 

  
2. jhtu Ntupy; czTr; Nrkpg;igf; nfhz;l jhtuk; vJ.? 

1) cUisf;fpoq;F     2) ,Q;rp 
3) ntq;fhak;      4) Ks;sq;fp 

  
3. ehUU Ntu;j; njhFjpiaf; nfhz;buhj jhtuk; vJ.? 

1) njd;id  2) Gy;    3)%q;fpy;   4) Jsrp  
 

4. xspj;njhFg;ig Nkw;nfhs;Sk; jz;ilf; nfhz;buhj jhtuk; vJ? 
1) fs;sp  2) cyit   3) gpuz;il    4) jhio  

 
5. $l;biyfisf; nfhz;l jhtuk; vJ? 

1) gg;ghrp  2) njd;id   3)kuts;sp   4) nrt;tuj;ij  
 

6. epupdhy; guk;gyilAk; goq;fisAk; tpj;Jf;fisAk; kl;Lk; cs;slf;fpa njhFjp vJ? 
1) gUj;jp> vUf;F> jzf;F> vz;nza; 

2) vz;nza;> fy;ypj;jp> fKF> Mkzf;F 

3) njd;id> fj;jhg;G> fKF> fy;ypj;jp 

4) Gypefk;> Mkzf;F> gg;ghrp> jf;fhsp 

  
7. xUtpj;jpiyj; jhtuk; njhlu;ghd $w;Wf;fSs; jtwhdJ vJ? 

1) ehUU Ntu;j;njhFjp fhzg;gLk;. 

2) ,iyfs; tiyAU euk;gikg;igf; nfhz;lJ. 

3) G+tpjo;fs; 4 my;yJ 5 my;yJ mtw;wpd; klq;fhff; fhzg;gLk;. 

4) tpj;J Kisj;jyp;d; NghJ tpj;jpiyfSld; $ba tpj;Jf;fs; kz;zpd; Nkw;gug;gpd; 

kl;lj;Jf;F Nky; nfhz;Ltug;glhJ. 

  
8. epiykpd;Ndw;wj;ij Kjd; Kjypy; fz;lwpe;j tpQ;Qhdp ahu;? 

1) ngd;[kpd; gpuhq;spd;      2) tpy;ypak; fpy;gu;l; 

3) Nthy;w;wh      3) J.J njhk;rd;  
9. cNuhQ;Rtjd; %yk; kpd;Ndw;w Kbahj nghUs; vJ? 

1) P.V.C Foha;     2) fz;zhbf;Nfhy; 
3) mYkpdpaf; Nfhy;    3) vgidl; Nfhy; 

 
; 
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Rl;nlz;:……………………………   Neuk; : 1 ½  kzp 

tpQ;Qhdk; 



10. epiy kpd;Ndw;wk; njhlu;ghd $w;Wf;fSs; jtwhdJ vJ? 
1) xj;jepiy kpd;Ndw;wj;ijf; nfhz;l nghUl;fspilNa js;Sif epyTfpwJ. 

2) xt;th epiy kpd;Ndw;wj;ijf; nfhz;l nghUl;fspilNa ftu;r;rp epyTfpwJ. 

3) gl;bdhy; cNuhQ;rg;gl;l fz;zhbapy; Neu;epiy kpd;Ndw;wk; Vw;gLfpwJ. 

4) fk;gspapdhy; cNuhQ;rg;gl;l vgidl;by; Neu; epiy kpd;Ndw;wk; Vw;gLfpwJ. 

 
11. nfhs;sstpapDs;Ns Nrkpj;J itf;ff;$ba Vw;wj;ij mstpLk; myF vJ? 

1) V (Nthy;w;)  2) A (mk;gpau;)  3) F (gul;)   4) J (A+y;) 
 

12. ,urhad khw;wj;jpd; %yk; kpd;id cw;gj;jp nra;Ak; kpd;Kjyhf fUj KbahjJ vJ? 
1) ijdNkh 

2) vspakpd;fyk; 

3) Nrkpg;Gf;fyk; 

4) cyu;kpd;fyk;  

 

 

13. Nkw;gb gupNrhjid mikg;gpy; rl;lf;fhe;jj;ij flj;jpr; RUspd; cs;Nehf;fpAk; 

ntspNehf;fpAk; mirj;j NghJ ngwg;gl;l mtjhdq;fSs; jtwhdJ vJ? 

1) fhe;jj;ij cs;Nehf;fp mirj;j NghJ fy;tNdhkhdpapd; Ks; xU jpirapy; jpUk;giyf; 

fhl;baJ. 

2) fhe;jj;ij ntspNehf;fp mirj;jNghJ fy;tNdhkhdpapd; Ks; Kd;ida jpirf;F 

vjpu;j;jpirapy; jpUk;giyf; fhl;baJ. 

3) fhe;jj;ij RUspDs; mirahJ itj;jpUe;j NghJ fy;tNdhkhdpapd; Ks; G+r;rpaj;ijf; 

fhl;baJ. 

4) fhe;jj;ij mg;ghy; nfhz;L nrd;w gpwFk; fy;tNdhkhdpapd; Ks; jpUk;giyf; fhl;baJ. 

 

14. Nkw;gb %d;W gupNrhjid mikg;gpYk; L.E.D ,id njhlu;e;J xspur; nra;Ak; kpd;Rw;W vJ? 
 
 
 
 
 
 
 
 
 
1) A       2) B 

3) C       3) %d;W mikg;gpYk; xspuhJ 
  

15. Nkw;gb mikg;gpy; rl;lf;fhe;jj;ij RUspd; kj;jpapy; gpbj;J 

Row;Wk; NghJ ePu; ngw;w mtjhdk; ahJ? 

1)  fy;tNdhkhdpapd; Ks; tyJ Gwkhf jpUk;gpaJ. 

2)  fy;tNdhkhdpapd; Ks; ,lJ Gwkhf jpUk;gpaJ. 

3)  fy;tNdhkhdpapd; Ks; G+r;rpaj;jpNyNa fhzg;gl;lJ. 

4)  fy;tNdhkhdpapd; Ks; ,UGwKk; khwpkhwp jpUk;gpaJ. 

 



16. tpdh 15 ,d; gupNrhjid mikg;gpy; fy;tNdhkhdpapd; Ks;spd; jpUk;gy; msit mjpfupf;f 
ehk; nra;a Ntz;ba eltbf;if vJ? 
1) typik $ba fhe;;jj;ijg; gad;gLj;jy;. 
2) fk;gpr;RUspd; Rw;Wf;fspd; vz;zpf;ifia Fiwj;jy;. 
3) fhe;jj;ij nkJthf Row;Wjy;. 
4) fhtyplg;gl;l nrg;Gf;fk;gpr;RUSf;Fg; gjpyhf rhjhuz nrg;Gf;fk;gp RUisg; 

gad;gLj;jy;.  
 

17. gpd;tUtdtw;Ws; NeNuhl;l> MlNyhl;l kpd;Kjy;fis KiwNa Fwpg;gpLtJ vJ? 
1) cyu;kpd;fyk;> ijdNkh 

2) #upafyk;>  Nrkpg;Gf;fyk; 

3) ijdNkh> tPl;Lkpd; 

4) vspakpd;fyk;> Nrkp;g;Gfyk;  

 
18. ePupy; ed;F fiuaf; $ba nghUs; vJ.? 

1) kQ;rs; J}s;     2) FSf;NfhR 

3) Rz;zhk;G      4) mg;gr;Nrhlh  

 
19. fhuq;fis kl;Lk; cs;slf;fpa njhFjp vJ? 

1) cg;G> rtu;f;fhuk;> ePu;    2) Rz;zhk;G> rhk;gy;> rtu;f;fhuk; 

3) vYkpr;ir> tpdhfpup> Gsp   4) rPdp> cg;G> ePu;  

 
20. ePyg; ghrpr;rhaj;jhis rptg;G epwkhf;FtJ vJ? 

1) cg;G ePu;  2) tpdhfpup   3) Rz;zhk;G ePu;  4) rtu;f;fhuk;. 

                (20 x 2= 40Gs;spfs;) 
 

02. gpd;tUk; $w;Wf;fs; rhpahapd; (   ) vdTk; gpioahapd;  (     )   vdTk; milg;Gf;Fwpf;Fs;   
  milahsk; ,Lf.  
 

 1) P H jhs; 7 f;Fhpa epwj;ij jUgit mkpyg;gjhh;j;jq;fs; vdg;gLk;  (    ) 

 2) nkijapw; nrk;kQ;rs; mkpyj;Jld; fhl;Lk; epwk; rptg;G MFk;    (    ) 

 3) ePhpy; fye;J [jhf;fg;gl;l mrw;wpf;fkpyNk nraw;if tpdhfphp vd miof;fg;gLk; 

            (    ) 

 4) vy;yh kpd;fyq;fSk; fyj;njhFjpfSk; NeNuhl;lj;ijg; gpwg;gpf;fpd;wd.  (    ) 

 5) #hpaf;fyq;fspy; xsp cs;s NghJ kl;LNk kpd;Dw;gj;jp eilngWfpd;wJ (    ) 

 6) vspa kpd;fyj;jpy; mjpf Neuj;Jf;F kpd;idg; ngw;Wf; nfhs;s KbAk;  (    ) 

 7) cyh; kpd;fyj;jpy; Neh; Kbtplkhf njhopw;gLtJ ehf ciw MFk;  (    ) 

 8) vspa kpd;fyj;jpy; Neh; Kbtplkhf njhopw;gLtJ nrg;Gj;jfL MFk;  (    ) 

 9) ijdNkhTld; ,idf;fg;gl;l kpd;Nkhl;lhpd; fhw;Wj;jl;L mjph;tilAk;  (    ) 

10) rijf;fiur;rhd; ,iy %yk; ,dg;ngUf;fkilAk; jhtukhFk;.   (    ) 

 
            (10×1=10 Gs;spfs;); 
 
 
03. fPwpl;l ,lq;fSf;Fg; nghUj;jkhd nrhy;iy njhpT nra;J ,ilntsp epug;Gf. 
 
1) cNuhQ;Rtjd; fhuzkhf nghUspd; Nkw;gug;gpd; kPJ Vw;gLk; kpd;Ndw;wk; ………….……… 

     vd miof;fg;gLk;. 

2) cNuQ;rg;gl Kd;dh; nghUl;fspy; ……………………………….. kw;Wk;. 



Neuk; 

3) …………………………… rk vz;zpf;ifapy; gutp fhzg;gLk;> ,jdhy; me;jg; nghUl;fs;     

   Vw;wj;ijf; fhl;lhJ> fz;zhb Nfhiy gl;Lj;Jzpapdhy; cNuhQ;Rk; NghJ  

4) ………………………………….. ,ypUe;J kiw Vw;wj; Jzpf;iffs; 

5) …………………………………. f;F te;jiltjhy; gl;lLj; Jzp. 

6) …………………………… [Ak; fz;zhb Nfhy;. 

7) …………………………… [Ak; ngWk;. 

8) thfdq;fspd; fjph;j;jpapy; ePhpd; …………………………… ,ay;G gad;gLfpwJ. 

9) jhtuq;fs; fdpAg;Gf;fis cwpQ;rpf; nfhs;tjw;F fhuzkhf ,Ug;gJ ePhpd; …………….. 

   ,ay;ghFk;. 

10) mkpyq;fSld; xU epwj;ijAk; fhuq;fSld; NtNwhU epwj;ijAk; jUfpd;w gjhh;j;jq;fs;  

   …………………………………….. vd miof;fg;gLk;. 

 
( Fsph;j;Jk; > fhl;bfs; > fiuf;Fk; > Neh;Vw;wj;Jzpf;iffs; > kiwVw;wj;Jzpf;iffs; >  
  epiykpd;Ndw;wk; > gl;Lj;Jzp > fz;zhbf;Nfhy; > Neh; Vw;wk; > kiw Vw;wk; ) 
 
          (10×1= Gs;spfs; ) 
 
 
 

gFjp II 

1. kpd;id cw;gj;jp nra;Ak; Jiz rhjdf;fUtpfs; kpd;Kjy;fs; vdg;gLk;. mt;thwhd  rpy 
kpd;Kjy;fspd; glq;fs; fPNo jug;gl;Ls;sd. 

 

 

 

 

 

 

 

 i. ,urhad khw;wj;jpd; %yk; kpd;id cw;gj;jp nra;gtw;iwg; ngaupLf.? 

  (3×2 =6 Gs;sp) 

 ii. mirT %yk; kp;d;id cw;gj;jp nra;tJ vJ?     (2 Gs;sp) 

 iii. mikg;G B apypUe;J gpwg;gpf;fg;gLk; kpd;Ndhl;lk; vt;tifahdJ.?  (1 Gs;sp) 

 

 iv. mikg;G B apypUe;J ngwg;gLk; kpd;Ndhl;lj;Jf;Fk; Neuj;Jf;Fk; ,ilapyhd  
  njhlu;igf; fhl;Lk; tiuG vJ? 
 

                A                B  

A B C D E 



2.  cyu; kpd;fyq;fs; 2> LED 2> fy;tNdh khzp> irf;fps; ijdNkh ,izf;Fk; fk;gp 
 
NkNy jug;gl;l nghUl;fisg; gad;gLj;jp jhk; 7 khzth;fshy; mikf;fg;gl;l 3 kpd; Rw;wf;fs; 
FwpaPLfisg; gad;gLj;jp fPNo jug;gl;Ls;sd. 
 
 
 
 
 
 
 
 
 

 
 
jug;gl;l nrad;Kiwfisg;gad;gLj;jp fPo; tUk; tpdhf;fSf;F tpil jUf? 
 
1. ghpNrhjid mikg;G A apy; ckJ mtjhdq;fs; 2 jUf ? 
 1………………………………………………………………………………………………………… 
 2………………………………………………………………………………………………………… 

(2  Gs;spfs;) 
 
2. mikg;G B apy; ckJ mtjhdq;fs; 2 jUf ? 
 1………………………………………………………………………………………………………… 
 2………………………………………………………………………………………………………… 

(2 Gs;spfs;) 
 
3. mikg;G C apy; ckJ mtjhdq;fs; 2 jUf ? 
 1………………………………………………………………………………………………………… 
 2………………………………………………………………………………………………………… 

(2 Gs;spfs;) 
 
4. ePh; ngw;w mtjhdq;fspy; ,Ue;J ngwf;$ba KbTfs; 2 jUf? 
  1…………………………………………………………………………………………………………  
 2…………………………………………………………………………………………………………` 

(2×2=4 Gs;spfs;) 
 
3. Ma;Tf;$lj;jpy; gad;gLj;Jfpd;w rpy ,urhadg; gjhh;j;jq;fs; fPNo jug;gl;Ls;sd. 
 

ry;G+hpf;fkpyk; > Nrhbak; [jnuhl;irl;L > [jNuhFNshhpf;fkpyk; > Nrhbak;    
FNshiul;L(fwpAg;G) > ePh; > nghl;lhrpak; [jnuhl;irl;L >  

 
 

NkNy jug;gl;ltw;iwg; gad;gLj;jp fPo;tUk; tpdhf;fSf;F tpilaspf;f. 
 
1) Ma;T $lj;jpy; mjpfkhfg; gad;dLj;Jfpd;w fhuq;fs; 2 jUf? 
 1…………………………………… 
  2……………………………………              (2 Gs;spfs;) 
 
2) Ma;T $lj;jpy; mjpfkhf gad;gLj;Jfpd;w mkpyq;fs; 2 jUf? 
 1…………………………………………….. 

  2……………………………………………..      (2 Gs;spfs;) 
 
3) eLepiyahd gjhu;j;jq;fs; 2 jUf? 
      1………………………………………         

   2………………………………………                                                                         (2 Gs;spfs;) 
 
 
 



4) Nrhbak; [jnul;irl;Lf; fiurYld; gpNdhj;jypd; fhl;Lk; epwk; ahJ? 
  ……………………………………………………………………………………………… (1 Gs;sp) 
5) ry;G+hpf;fkpyj;Jld; gpNdhj;jypd; fhl;Lk; epwk; ahJ? 
  ……………………………………………………………………………………………… (1 Gs;sp) 
6) gy;NtW jhtug;gFjpfis mtpj;J ngwg;gLk; rhWfisf; fhl;bfshfg; gad;gLj;jyhk;.  

mt;thwhd fhl;bfs; 2 jUf.   
……………………………………………………………………………………………………………

…………………………………………………………………………………………………………… 
(2 Gs;spfs;) 

 
        
                                                                                                                                         
4. jhtuq;fspy; fhzg;gLk; gy;NtW gFjpfspilNa g+f;fs; kpfTk; fth;r;rpahdit. 
  g+tpd; gpujhd gFjpfs; fPNo cs;s glq;fspy; fhl;lg;gl;Ls;sd. 
 
 
 
 
 
 
 
 
 
 
 
 

1. A,B,C Mfpa vOj;Jf;fs; G+tpd; gpujhdkhd vg;gFjpia Fwpf;fpd;wJ.? 
 
...................…………………………      (1 Gs;sp) 

 
      2. A,B,C Mfpa gFjpfis ngahpLf.? 
 
 A:-…………………………………………….. 
 B:-…………………………………………….. 
 C:-……………………………………………..        (3 Gs;sp) 
 
  3. D,E vOj;Jf;fshy; fhl;lg;gl;bUf;Fk; gFjpfis ngahpLf? 
 
 D:-……………………………………………. 
 E:-…………………………………………….         (2 Gs;sp) 

 
  4. G+ xd;wpd; kpfTk; fth;r;rpahd gFjp vJ? 

   ………………………………..                    (1 Gs;sp) 
 
  5. fhuzk; ahJ? 
   ………………………………………………………………………………………..  (1 Gs;sp) 
 
  6. G+nthd;wpd; Mzfk; vt;thW miof;fg;gLk;? 
   …………………………………………                  (1 Gs;sp) 
 
  7. Mzfj;jpd; gpujhd njhopy; ahJ? 
  ………………………………………………..   (1 Gs;sp) 
 
  
 
 
 
 


